**General Info** 

Number: 690521-100010, Contract 2356

Description: 2021 Water Main Repairs
Deadline: 2021-11-03 19:00:00 UTC

Bids				
Business	Bid Total	Submitted at	Signed by	Opened at
Conie Construction Co.	\$648,395.00	2021-11-03 10:47:20 UTC	William O'Malley	2021-11-03 19:01:38 UTC
Travco Construction, Inc.	\$650,760.00	2021-10-25 14:43:27 UTC	Jeff Lucas	2021-11-03 19:00:45 UTC
John Eramo & Sons, Inc	\$664,207.50	2021-11-02 12:10:01 UTC	Christopher Eramo	2021-11-03 19:01:15 UTC
Danbert, Inc	\$757,752.83	2021-11-03 16:14:26 UTC	Matthew Lemon	2021-11-03 19:02:11 UTC

(local)

					Engineer'	s Estimate	<b>Conie Construction Co.</b>			
Ref.	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension	
1	259	Driveway Pavement Replacement, Type III A	5	CY	\$700.00	\$3,500.00	\$400.00	\$225.00	\$3,125.00	
2	259	Driveway Pavement Replacement, Type III B	5	CY	\$720.00	\$3,600.00	\$200.00	\$400.00	\$3,000.00	
3	259	Driveway Pavement Replacement, Type III C	5	CY	\$70.00	\$350.00	\$20.00	\$10.00	\$150.00	
4	605	4" Underdrain	75	LF	\$10.00	\$750.00	\$1.50	\$0.50	\$150.00	
5	608	Concrete Walk 4"	300	SF	\$25.00	\$7,500.00	\$5.00	\$15.00	\$6,000.00	
6	609	Curb, Straight 18"	50	LF	\$50.00	\$2,500.00	\$10.00	\$50.00	\$3,000.00	
7	609	Combination Curb & Gutter, Type Standard	30	LF	\$60.00	\$1,800.00	\$15.00	\$45.00	\$1,800.00	
8	659	Seeding & Mulching	200	SY	\$6.00	\$1,200.00	\$2.00	\$1.75	\$750.00	
0	001	Concrete Blocking Class C, Increase or Decrease	20	CY	¢150.00	¢2 000 00	00.00	¢10.00	\$2,000,00	
9	801	Crushed Stone or Gravel			\$150.00	\$3,000.00	\$90.00	\$10.00	\$2,000.00	
10	815		15	CY	\$120.00	\$1,800.00	\$20.00	\$5.00	\$375.00	
11		3/4 Inch Water Tap, Short	20	EA	\$2,600.00	\$52,000.00	\$0.00	\$2,700.00	\$54,000.00	
12		1 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,700.00	\$5,400.00	
13		11/2 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,700.00	\$5,400.00	
14	SPEC	2 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,700.00	\$5,400.00	
15	SPEC	3/4 Inch Water Tap, Long	10	EA	\$3,000.00	\$30,000.00	\$0.00	\$5,300.00	\$53,000.00	
16	SPEC	1 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$0.00	\$5,300.00	\$10,600.00	
17	SPEC	11/2 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$0.00	\$5,300.00	\$10,600.00	
18	SPEC	2 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$0.00	\$5,300.00	\$10,600.00	
19	SPEC	3/4 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$0.00	\$2,700.00	\$5,400.00	

_					Engineer's Estimate Conie Construction Co.			Co.	
Ref.	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
20	SPEC	1 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$0.00	\$2,700.00	\$5,400.00
21	SPEC	11/2 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$0.00	\$2,700.00	\$5,400.00
22	SPEC	2 Inch Water Tap Repair	2	EA	\$1,600.00	\$3,200.00	\$0.00	\$2,700.00	\$5,400.00
23	SPEC	4 Inch Point Repair With Clamp	2	EA	\$3,300.00	\$6,600.00	\$0.00	\$2,700.00	\$5,400.00
24	SPEC	6 Inch Point Repair With Clamp	15	EA	\$3,300.00	\$49,500.00	\$0.00	\$2,700.00	\$40,500.00
25	SPEC	8 Inch Point Repair With Clamp	15	EA	\$3,300.00	\$49,500.00	\$0.00	\$2,700.00	\$40,500.00
26	SPEC	12 Inch Point Repair With Clamp	4	EA	\$3,400.00	\$13,600.00	\$0.00	\$4,000.00	\$16,000.00
27	SPEC	16 Inch Point Repair With Clamp	1	EA	\$5,000.00	\$5,000.00	\$0.00	\$5,300.00	\$5,300.00
28	SPEC	4 Inch Point Repair With Pipe and Couplings	1	EA	\$3,000.00	\$3,000.00	\$0.00	\$2,700.00	\$2,700.00
29	SPEC	6 Inch Point Repair With Pipe and Couplings	5	EA	\$3,100.00	\$15,500.00	\$0.00	\$2,700.00	\$13,500.00
30	SPEC	8 Inch Point Repair With Pipe and Couplings	5	EA	\$3,300.00	\$16,500.00	\$0.00	\$2,700.00	\$13,500.00
31	SPEC	12 Inch Point Repair With Pipe and Couplings	1	EA	\$3,400.00	\$3,400.00	\$0.00	\$4,000.00	\$4,000.00
32	SPEC	16 Inch Point Repair With Pipe and Couplings	1	EA	\$3,600.00	\$3,600.00	\$0.00	\$5,300.00	\$5,300.00
33	SPEC	Law Enforcement Officer As Required Maintaining Traffic, per Repair Without Lane	30	HR	\$90.00	\$2,700.00	\$0.00	\$75.00	\$2,250.00
34	SPEC	Closure  Maintaining Traffic, per Repair Without Lane  Maintaining Traffic, per Repair With Lane	55	EA	\$60.00	\$3,300.00	\$0.00	\$15.00	\$825.00
35	SPEC	Closure	45	EA	\$100.00	\$4,500.00	\$0.00	\$40.00	\$1,800.00
36	SPEC	Temporary Pavement	75	SY	\$50.00	\$3,750.00	\$10.00	\$10.00	\$1,500.00
37	SPEC	Permanent Pavement	100	CY	\$650.00	\$65,000.00	\$400.00	\$200.00	\$60,000.00
38	SPEC	Heat Welding	30	SY	\$60.00	\$1,800.00	\$5.00	\$60.00	\$1,950.00
39	SPEC	Backfill For Repairs	750	CY	\$120.00	\$90,000.00	\$80.00	\$20.00	\$75,000.00
40	SPEC	Increase or Decrease in Excavation	100	CY	\$45.00	\$4,500.00	\$0.00	\$25.00	\$2,500.00
41	SPEC	Topsoil Furnished and Placed	75	CY	\$45.00	\$3,375.00	\$30.00	\$5.00	\$2,625.00
42	SPEC	Evening or Saturday Work Add-On	100	CREW HR CREW	\$230.00	\$23,000.00	\$0.00	\$50.00	\$5,000.00
43	SPEC	Sunday Work Add-On	30	HR	\$230.00	\$6,900.00	\$0.00	\$100.00	\$3,000.00

					Engineer's	s Estimate	Conie Construction Co.			
Ref.	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension	
44	SPEC	Pipeline Installation Crew & Equipment	25	HR	\$450.00	\$11,250.00	\$0.00	\$360.00	\$9,000.00	
45	SPEC	Curb Ramp	2	EA	\$1,500.00	\$3,000.00	\$400.00	\$600.00	\$2,000.00	
46	SPEC	Asbestos Pipe Repair and Disposal	2	EA	\$2,800.00	\$5,600.00	\$0.00	\$4,800.00	\$9,600.00	
47		"Put-In-Shape" Existing Curb Stop	25	EA	\$500.00	\$12,500.00	\$0.00	\$1,150.00	\$28,750.00	
		Pipeline Materials for Water Main Installations,								
48	SPEC	Invoiced amount(s) plus 15%	1	LS	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$40,000.00	
		SUBTOTAL:				\$600,575.00			\$589,450.00	
		CONTINGENCY (10%)				\$60,057.50			\$58,945.00	
		GRAND TOTAL:				\$660,632.50			\$648,395.00	
	% D	IFFERENCE FROM ENGINEER'S ESTIMATE:							-1.85%	
		% DIFFERENCE WITHIN LOWEST BIDDER:							N/A	
	·	Contract Compliance No.:					31-0	0800904 (2/18/2	23, MAJ, 4320)	

M. Conie's tapper's license expires 12/31/21.

1340 Windsor Ave.

Columbus, OH 43211

Craig Conie, President

Bill O'Malley, V.P.

billo@conie.com

(614) 291-5931

(not local)

				Engineer'	s Estimate	Travco Construction, Inc.			
Ref.	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
1	259	Driveway Pavement Replacement, Type III A	5	CY	\$700.00	\$3,500.00	\$750.00	\$0.00	\$3,750.00
2	259	Driveway Pavement Replacement, Type III B	5	CY	\$720.00	\$3,600.00	\$720.00	\$0.00	\$3,600.00
3	259	Driveway Pavement Replacement, Type III C	5	CY	\$70.00	\$350.00	\$45.00	\$0.00	\$225.00
4	605	4" Underdrain	75	LF	\$10.00	\$750.00	\$0.00	\$8.00	\$600.00
5	608	Concrete Walk 4"	300	SF	\$25.00	\$7,500.00	\$0.00	\$28.00	\$8,400.00
6	609	Curb, Straight 18"	50	LF	\$50.00	\$2,500.00	\$0.00	\$40.00	\$2,000.00
7	609	Combination Curb & Gutter, Type Standard	30	LF	\$60.00	\$1,800.00	\$0.00	\$45.00	\$1,350.00
8	659	Seeding & Mulching	200	SY	\$6.00	\$1,200.00	\$0.00	\$6.00	\$1,200.00
		Concrete Blocking Class C, Increase or							
9		Decrease	20	CY	\$150.00	\$3,000.00	\$150.00	\$0.00	\$3,000.00
10	815	Crushed Stone or Gravel	15	CY	\$120.00	\$1,800.00	\$60.00	\$0.00	\$900.00
11	SPEC	3/4 Inch Water Tap, Short	20	EA	\$2,600.00	\$52,000.00	\$0.00	\$2,600.00	\$52,000.00
12	SPEC	1 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,600.00	\$5,200.00
13	SPEC	11/2 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,600.00	\$5,200.00
14	SPEC	2 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,600.00	\$5,200.00
15	SPEC	3/4 Inch Water Tap, Long	10	EA	\$3,000.00	\$30,000.00	\$0.00	\$3,300.00	\$33,000.00
16	SPEC	1 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$0.00	\$3,100.00	\$6,200.00
17	SPEC	11/2 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$0.00	\$3,100.00	\$6,200.00
18	SPEC	2 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$0.00	\$3,100.00	\$6,200.00
19	SPEC	3/4 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$0.00	\$1,600.00	\$3,200.00

					Engineer'	s Estimate	Travco Construction, Inc.		
Ref.	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
20	SPEC	1 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$0.00	\$1,600.00	\$3,200.00
21	SPEC	11/2 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$0.00	\$1,600.00	\$3,200.00
22	SPEC	2 Inch Water Tap Repair	2	EA	\$1,600.00	\$3,200.00	\$0.00	\$2,000.00	\$4,000.00
23	SPEC	4 Inch Point Repair With Clamp	2	EA	\$3,300.00	\$6,600.00	\$0.00	\$3,300.00	\$6,600.00
24	SPEC	6 Inch Point Repair With Clamp	15	EA	\$3,300.00	\$49,500.00	\$0.00	\$3,300.00	\$49,500.00
25	SPEC	8 Inch Point Repair With Clamp	15	EA	\$3,300.00	\$49,500.00	\$0.00	\$3,300.00	\$49,500.00
26	SPEC	12 Inch Point Repair With Clamp	4	EA	\$3,400.00	\$13,600.00	\$0.00	\$3,300.00	\$13,200.00
27	SPEC	16 Inch Point Repair With Clamp	1	EA	\$5,000.00	\$5,000.00	\$0.00	\$3,800.00	\$3,800.00
28	SPEC	4 Inch Point Repair With Pipe and Couplings	1	EA	\$3,000.00	\$3,000.00	\$0.00	\$2,900.00	\$2,900.00
29	SPEC	6 Inch Point Repair With Pipe and Couplings	5	EA	\$3,100.00	\$15,500.00	\$0.00	\$3,100.00	\$15,500.00
30	SPEC	8 Inch Point Repair With Pipe and Couplings	5	EA	\$3,300.00	\$16,500.00	\$0.00	\$3,300.00	\$16,500.00
31	SPEC	12 Inch Point Repair With Pipe and Couplings	1	EA	\$3,400.00	\$3,400.00	\$0.00	\$3,300.00	\$3,300.00
32	SPEC	16 Inch Point Repair With Pipe and Couplings	1	EA	\$3,600.00	\$3,600.00	\$0.00	\$3,300.00	\$3,300.00
33	SPEC	Law Enforcement Officer As Required	30	HR	\$90.00	\$2,700.00	\$0.00	\$90.00	\$2,700.00
34		Maintaining Traffic, per Repair Without Lane Closure Maintaining Traffic, per Repair With Lane	55	EA	\$60.00	\$3,300.00	\$0.00	\$50.00	\$2,750.00
35		Closure	45	EA	\$100.00	\$4,500.00	\$0.00	\$100.00	\$4,500.00
36	SPEC	Temporary Pavement	75	SY	\$50.00	\$3,750.00	\$45.00	\$0.00	\$3,375.00
37	SPEC	Permanent Pavement	100	CY	\$650.00	\$65,000.00	\$675.00	\$0.00	\$67,500.00
38	SPEC	Heat Welding	30	SY	\$60.00	\$1,800.00	\$10.00	\$0.00	\$300.00
39	SPEC	Backfill For Repairs	750	CY	\$120.00	\$90,000.00	\$110.00	\$0.00	\$82,500.00
40	SPEC	Increase or Decrease in Excavation	100	CY	\$45.00	\$4,500.00	\$0.00	\$40.00	\$4,000.00
41	SPEC	Topsoil Furnished and Placed	75	CY CREW	\$45.00	\$3,375.00	\$40.00	\$0.00	\$3,000.00
42	SPEC	Evening or Saturday Work Add-On	100	HR CREW	\$230.00	\$23,000.00	\$0.00	\$220.00	\$22,000.00
43	SPEC	Sunday Work Add-On	30	HR	\$230.00	\$6,900.00	\$0.00	\$220.00	\$6,600.00

					Engineer's	s Estimate	Travco Construction, Inc.			
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension	
44	SPEC	Pipeline Installation Crew & Equipment	25	HR	\$450.00	\$11,250.00	\$0.00	\$300.00	\$7,500.00	
45	SPEC	Curb Ramp	2	EA	\$1,500.00	\$3,000.00	\$1,800.00	\$0.00	\$3,600.00	
46	SPEC	Asbestos Pipe Repair and Disposal	2	EA	\$2,800.00	\$5,600.00	\$0.00	\$2,800.00	\$5,600.00	
47	SPEC	"Put-In-Shape" Existing Curb Stop	25	EA	\$500.00	\$12,500.00	\$0.00	\$550.00	\$13,750.00	
		Pipeline Materials for Water Main Installations,								
48	SPEC	Invoiced amount(s) plus 15%	1	LS	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$40,000.00	
		SUBTOTAL:				\$600,575.00			\$591,600.00	
		CONTINGENCY (10%)				\$60,057.50			\$59,160.00	
		GRAND TOTAL:				\$660,632.50			\$650,760.00	
	% D	IFFERENCE FROM ENGINEER'S ESTIMATE:							-1.49%	
		% DIFFERENCE WITHIN LOWEST BIDDER:							0.36%	
Contract Compliance No.:							71-0	0948514 (6/1/2	2, MAJ, 9944)	

Travco Construction, Inc.
4097 Venture Place
Groveport, Ohio 43125
Jeff Lucas VP-Operations
Tim Arnold, Accountant
tim@travcoconstruction.com
(614) 567-6280

(not local)

					Engineer'	s Estimate	n Eramo & So	amo & Sons	
Ref.	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
1	259	Driveway Pavement Replacement, Type III A	5	CY	\$700.00	\$3,500.00	\$250.00	\$350.00	\$3,000.00
2	259	Driveway Pavement Replacement, Type III B	5	CY	\$720.00	\$3,600.00	\$250.00	\$450.00	\$3,500.00
3	259	Driveway Pavement Replacement, Type III C	5	CY	\$70.00	\$350.00	\$25.00	\$25.00	\$250.00
4	605	4" Underdrain	75	LF	\$10.00	\$750.00	\$1.00	\$4.00	\$375.00
5	608	Concrete Walk 4"	300	SF	\$25.00	\$7,500.00	\$14.00	\$14.00	\$8,400.00
6	609	Curb, Straight 18"	50	LF	\$50.00	\$2,500.00	\$30.00	\$45.00	\$3,750.00
7	609	Combination Curb & Gutter, Type Standard	30	LF	\$60.00	\$1,800.00	\$40.00	\$55.00	\$2,850.00
8	659	Seeding & Mulching	200	SY	\$6.00	\$1,200.00	\$1.00	\$1.00	\$400.00
		Concrete Blocking Class C, Increase or							
9		Decrease	20	CY	\$150.00	\$3,000.00	\$80.00	\$20.00	\$2,000.00
10	815	Crushed Stone or Gravel	15	CY	\$120.00	\$1,800.00	\$30.00	\$30.00	\$900.00
11	SPEC	3/4 Inch Water Tap, Short	20	EA	\$2,600.00	\$52,000.00	\$0.00	\$2,700.00	\$54,000.00
12	SPEC	1 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,700.00	\$5,400.00
13	SPEC	11/2 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,700.00	\$5,400.00
14	SPEC	2 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$0.00	\$2,700.00	\$5,400.00
15	SPEC	3/4 Inch Water Tap, Long	10	EA	\$3,000.00	\$30,000.00	\$0.00	\$3,700.00	\$37,000.00
16	SPEC	1 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$0.00	\$3,700.00	\$7,400.00
17	SPEC	11/2 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$0.00	\$3,700.00	\$7,400.00
18	SPEC	2 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$0.00	\$3,700.00	\$7,400.00
19	SPEC	3/4 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$0.00	\$2,000.00	\$4,000.00

					Engineer'	s Estimate	John Eramo & Sons		
Ref.	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
20	SPEC	1 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$0.00	\$2,000.00	\$4,000.00
21	SPEC	11/2 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$0.00	\$2,000.00	\$4,000.00
22	SPEC	2 Inch Water Tap Repair	2	EA	\$1,600.00	\$3,200.00	\$0.00	\$2,000.00	\$4,000.00
23	SPEC	4 Inch Point Repair With Clamp	2	EA	\$3,300.00	\$6,600.00	\$0.00	\$3,300.00	\$6,600.00
24	SPEC	6 Inch Point Repair With Clamp	15	EA	\$3,300.00	\$49,500.00	\$0.00	\$3,300.00	\$49,500.00
25	SPEC	8 Inch Point Repair With Clamp	15	EA	\$3,300.00	\$49,500.00	\$0.00	\$3,300.00	\$49,500.00
26	SPEC	12 Inch Point Repair With Clamp	4	EA	\$3,400.00	\$13,600.00	\$0.00	\$3,300.00	\$13,200.00
27	SPEC	16 Inch Point Repair With Clamp	1	EA	\$5,000.00	\$5,000.00	\$0.00	\$3,300.00	\$3,300.00
28	SPEC	4 Inch Point Repair With Pipe and Couplings	1	EA	\$3,000.00	\$3,000.00	\$0.00	\$3,300.00	\$3,300.00
29	SPEC	6 Inch Point Repair With Pipe and Couplings	5	EA	\$3,100.00	\$15,500.00	\$0.00	\$3,300.00	\$16,500.00
30	SPEC	8 Inch Point Repair With Pipe and Couplings	5	EA	\$3,300.00	\$16,500.00	\$0.00	\$3,300.00	\$16,500.00
31	SPEC	12 Inch Point Repair With Pipe and Couplings	1	EA	\$3,400.00	\$3,400.00	\$0.00	\$3,300.00	\$3,300.00
32	SPEC	16 Inch Point Repair With Pipe and Couplings	1	EA	\$3,600.00	\$3,600.00	\$0.00	\$3,300.00	\$3,300.00
33		Law Enforcement Officer As Required	30	HR	\$90.00	\$2,700.00	\$0.00	\$60.00	\$1,800.00
34	SPEC	Maintaining Traffic, per Repair Without Lane Closure Maintaining Traffic, per Repair With Lane	55	EA	\$60.00	\$3,300.00	\$0.00	\$10.00	\$550.00
35	SPEC	Closure	45	EA	\$100.00	\$4,500.00	\$0.00	\$60.00	\$2,700.00
36	SPEC	Temporary Pavement	75	SY	\$50.00	\$3,750.00	\$10.00	\$10.00	\$1,500.00
37	SPEC	Permanent Pavement	100	CY	\$650.00	\$65,000.00	\$250.00	\$400.00	\$65,000.00
38	SPEC	Heat Welding	30	SY	\$60.00	\$1,800.00	\$0.00	\$65.00	\$1,950.00
39	SPEC	Backfill For Repairs	750	CY	\$120.00	\$90,000.00	\$67.00	\$65.00	\$99,000.00
40	SPEC	Increase or Decrease in Excavation	100	CY	\$45.00	\$4,500.00	\$0.00	\$40.00	\$4,000.00
41	SPEC	Topsoil Furnished and Placed	75	CY	\$45.00	\$3,375.00	\$10.00	\$30.00	\$3,000.00
42	SPEC	Evening or Saturday Work Add-On	100	CREW HR CREW	\$230.00	\$23,000.00	\$0.00	\$40.00	\$4,000.00
43	SPEC	Sunday Work Add-On	30	HR	\$230.00	\$6,900.00	\$0.00	\$100.00	\$3,000.00

TN F I					Engineer's	s Estimate	John Eramo & Sons		
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
44	SPEC	Pipeline Installation Crew & Equipment	25	HR	\$450.00	\$11,250.00	\$0.00	\$500.00	\$12,500.00
45	SPEC	Curb Ramp	2	EA	\$1,500.00	\$3,000.00	\$50.00	\$1,950.00	\$4,000.00
46	SPEC	Asbestos Pipe Repair and Disposal	2	EA	\$2,800.00	\$5,600.00	\$0.00	\$2,500.00	\$5,000.00
47		"Put-In-Shape" Existing Curb Stop	25	EA	\$500.00	\$12,500.00	\$0.00	\$800.00	\$20,000.00
48		Pipeline Materials for Water Main Installations, Invoiced amount(s) plus 15%	1	LS	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$40,000.00
		SUBTOTAL:				\$600,575.00			\$603,825.00
		CONTINGENCY (10%)				\$60,057.50			\$60,382.50
		GRAND TOTAL:				\$660,632.50			\$664,207.50
	% D	IFFERENCE FROM ENGINEER'S ESTIMATE:							0.54%
		% DIFFERENCE WITHIN LOWEST BIDDER:							2.44%
		Contract Compliance No.:					31-0	724866 (expire	d, MAJ, 4251)

John Eramo & Sons 3670 Lacon Road Hilliard, Ohio 43026 Chris Eramo, President (614) 777-0020 chris@eramo.com

(not local)

				Engineer'	s Estimate	Danbert, Inc			
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
1	259	Driveway Pavement Replacement, Type III A	5	CY	\$700.00	\$3,500.00	\$250.00	\$442.32	\$3,461.60
2	259	Driveway Pavement Replacement, Type III B	5	CY	\$720.00	\$3,600.00	\$25.00	\$1,101.27	\$5,631.35
3	259	Driveway Pavement Replacement, Type III C	5	CY	\$70.00	\$350.00	\$50.00	\$44.04	\$470.20
4	605	4" Underdrain	75	LF	\$10.00	\$750.00	\$4.00	\$4.27	\$620.25
5	608	Concrete Walk 4"	300	SF	\$25.00	\$7,500.00	\$5.00	\$27.45	\$9,735.00
6	609	Curb, Straight 18"	50	LF	\$50.00	\$2,500.00	\$10.00	\$46.28	\$2,814.00
7	609	Combination Curb & Gutter, Type Standard	30	LF	\$60.00	\$1,800.00	\$5.00	\$52.06	\$1,711.80
8	659	Seeding & Mulching Concrete Blocking Class C, Increase or	200	SY	\$6.00	\$1,200.00	\$2.00	\$2.00	\$800.00
9	801	Decrease	20	CY	\$150.00	\$3,000.00	\$175.00	\$20.87	\$3,917.40
10	815	Crushed Stone or Gravel	15	CY	\$120.00	\$1,800.00	\$13.00	\$19.32	\$484.80
11	SPEC	3/4 Inch Water Tap, Short	20	EA	\$2,600.00	\$52,000.00	\$50.00	\$3,112.48	\$63,249.60
12	SPEC	1 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$65.00	\$3,109.22	\$6,348.44
13	SPEC	11/2 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$75.00	\$3,099.22	\$6,348.44
14	SPEC	2 Inch Water Tap, Short	2	EA	\$2,600.00	\$5,200.00	\$90.00	\$3,084.22	\$6,348.44
15	SPEC	3/4 Inch Water Tap, Long	10	EA	\$3,000.00	\$30,000.00	\$100.00	\$3,256.10	\$33,561.00
16	SPEC	1 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$125.00	\$3,234.03	\$6,718.06
17	SPEC	11/2 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$150.00	\$3,606.93	\$7,513.86
18	SPEC	2 Inch Water Tap, Long	2	EA	\$3,000.00	\$6,000.00	\$200.00	\$3,556.93	\$7,513.86
19	SPEC	3/4 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$50.00	\$3,205.50	\$6,511.00

					Engineer'	s Estimate	Danbert, Inc			
Ref.	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension	
20	SPEC	1 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$25.00	\$3,201.17	\$6,452.34	
21	SPEC	11/2 Inch Water Tap Repair	2	EA	\$1,400.00	\$2,800.00	\$55.00	\$3,200.50	\$6,511.00	
22	SPEC	2 Inch Water Tap Repair	2	EA	\$1,600.00	\$3,200.00	\$100.00	\$3,155.50	\$6,511.00	
23	SPEC	4 Inch Point Repair With Clamp	2	EA	\$3,300.00	\$6,600.00	\$175.00	\$3,674.96	\$7,699.92	
24	SPEC	6 Inch Point Repair With Clamp	15	EA	\$3,300.00	\$49,500.00	\$250.00	\$3,591.16	\$57,617.40	
25	SPEC	8 Inch Point Repair With Clamp	15	EA	\$3,300.00	\$49,500.00	\$300.00	\$3,541.16	\$57,617.40	
26	SPEC	12 Inch Point Repair With Clamp	4	EA	\$3,400.00	\$13,600.00	\$325.00	\$3,517.63	\$15,370.52	
27	SPEC	16 Inch Point Repair With Clamp	1	EA	\$5,000.00	\$5,000.00	\$350.00	\$5,379.47	\$5,729.47	
28	SPEC	4 Inch Point Repair With Pipe and Couplings	1	EA	\$3,000.00	\$3,000.00	\$375.00	\$5,354.47	\$5,729.47	
29	SPEC	6 Inch Point Repair With Pipe and Couplings	5	EA	\$3,100.00	\$15,500.00	\$100.00	\$3,741.16	\$19,205.80	
30	SPEC	8 Inch Point Repair With Pipe and Couplings	5	EA	\$3,300.00	\$16,500.00	\$100.00	\$3,741.16	\$19,205.80	
31	SPEC	12 Inch Point Repair With Pipe and Couplings	1	EA	\$3,400.00	\$3,400.00	\$150.00	\$7,444.31	\$7,594.31	
32	SPEC	16 Inch Point Repair With Pipe and Couplings	1	EA	\$3,600.00	\$3,600.00	\$150.00	\$7,444.31	\$7,594.31	
33	SPEC	Law Enforcement Officer As Required Maintaining Traffic, per Repair Without Lane	30	HR	\$90.00	\$2,700.00	\$0.00	\$56.50	\$1,695.00	
34	SPEC	Closure  Maintaining Traffic, per Repair Without Lane  Maintaining Traffic, per Repair With Lane	55	EA	\$60.00	\$3,300.00	\$10.00	\$50.00	\$3,300.00	
35	SPEC	Closure	45	EA	\$100.00	\$4,500.00	\$40.00	\$60.00	\$4,500.00	
36	SPEC	Temporary Pavement	75	SY	\$50.00	\$3,750.00	\$12.50	\$12.51	\$1,875.75	
37	SPEC	Permanent Pavement	100	CY	\$650.00	\$65,000.00	\$375.00	\$225.01	\$60,001.00	
38	SPEC	Heat Welding	30	SY	\$60.00	\$1,800.00	\$10.00	\$50.00	\$1,800.00	
39	SPEC	Backfill For Repairs	750	CY	\$120.00	\$90,000.00	\$100.00	\$37.65	\$103,237.50	
40	SPEC	Increase or Decrease in Excavation	100	CY	\$45.00	\$4,500.00	\$5.00	\$25.00	\$3,000.00	
41	SPEC	Topsoil Furnished and Placed	75	CY	\$45.00	\$3,375.00	\$24.00	\$84.51	\$8,138.25	
42	SPEC	Evening or Saturday Work Add-On	100	CREW HR CREW	\$230.00	\$23,000.00	\$20.00	\$120.18	\$14,018.00	
43	SPEC	Sunday Work Add-On	30	HR	\$230.00	\$6,900.00	\$20.00	\$260.35	\$8,410.50	

			Engineer's Estimate		Danbert, Inc				
Ref.	Item #	Description	Qty	Units	Unit Price	Extension	Materials	Labor	Extension
44	SPEC	Pipeline Installation Crew & Equipment	25	HR	\$450.00	\$11,250.00	\$100.00	\$416.69	\$12,917.25
45	SPEC	Curb Ramp	2	EA	\$1,500.00	\$3,000.00	\$500.00	\$497.41	\$1,994.82
46	SPEC	Asbestos Pipe Repair and Disposal	2	EA	\$2,800.00	\$5,600.00	\$128.00	\$3,099.90	\$6,455.80
47		"Put-In-Shape" Existing Curb Stop	25	EA	\$500.00	\$12,500.00	\$73.00	\$763.98	\$20,924.50
		Pipeline Materials for Water Main Installations,							
48	SPEC	Invoiced amount(s) plus 15%	1	LS	\$40,000.00	\$40,000.00	\$40,000.00	\$0.00	\$40,000.00
		SUBTOTAL:				\$600,575.00			\$688,866.21
		CONTINGENCY (10%)				\$60,057.50			\$68,886.62
		GRAND TOTAL:				\$660,632.50			\$757,752.83
% DIFFERENCE FROM ENGINEER'S ESTIMATE:									14.70%
% DIFFERENCE WITHIN LOWEST BIDDER:									16.87%
Contract Compliance No.:							31-10290	004 (3/10/22	, MAJ, 4618)

Danbert, Inc.
8077 Memorial Drive
Plain City, Ohio, 43064
Matthew J. Lemon, President
(614) 873-4677
mlemon@danbertinc.com